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Figure 1. Comparison of simulation results (blue) with hardware results (red) for rotor velocity (left) and phase current (right).
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Figure 2. Simulink model of a PMSM.
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Figure 3. Plot of rotor velocity during the coast-down test. Blue = hardware test results; red = curve fitting results.
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Figure 4. Comparison of measured rotor velocity (red) and simulated rotor velocity (blue).

���������������������$���������
����������������������������������� ���������������!��������������������������������������������������������

���<���B�6�3���������D�=�:�B�/�5�3���A�B�3�>���B�3�A�B���/���������D�=�:�B�/�5�3���7�A���/�>�>�:�7�3�2���/�1�@�=�A�A���B�6�3���;�=�B�=�@���>�6�/�A�3�������/�<�2���>�6�/�A�3�������1�=�<�<�3�1�B�7�=�<�A���/�<�2���B�6�3���@�3�A�C�:�B�7�<�5���1�C�@�@�3�<�B���7�A

�;�3�/�A�C�@�3�2�������:�3�1�B�@�7�1�/�:�:�G�����C�<�2�3�@���B�6�3�A�3���1�=�<�2�7�B�7�=�<�A�����/���B�6�@�3�3���>�6�/�A�3���$�!�&�!���0�3�6�/�D�3�A���:�7�9�3���/���1�7�@�1�C�7�B���E�7�B�6���B�E�=���A�3�@�7�3�A���@�3�A�7�A�B�=�@�A���/�<�2���B�E�=���A�3�@�7�3�A

�7�<�2�C�1�B�=�@�A�������7�5�C�@�3��������

Figure 5. Equivalent electrical circuit for DC step test.
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Figure 6. Voltage (top) and current (bottom) for a pulse in the DC voltage step test.

���"�������������������������������������#�����������������	������������������������� ����

���F�B�@�/�1�B�7�<�5���B�6�3���>�6�/�A�3���@�3�A�7�A�B�/�<�1�3���4�@�=�;���B�6�3���;�3�/�A�C�@�3�2���2�/�B�/���@�3�?�C�7�@�3�2���=�<�:�G���B�6�3���/�>�>�:�7�1�/�B�7�=�<���=�4���#�6�;���A���:�/�E�����%�������)�	�������C�A�7�<�5���B�6�3���A�B�3�/�2�G���A�B�/�B�3

�D�/�:�C�3�A���4�=�@���D�=�:�B�/�5�3���/�<�2���1�C�@�@�3�<�B�������=�@���B�6�3���$�!�&�!���E�3���1�/�:�1�C�:�/�B�3�2���B�6�3���@�3�A�7�A�B�/�<�1�3���/�A�����
���������D�=�:�B�A���	�������
�����/�;�>�A���������������
���=�6�;�A�������G���A�C�0�B�@�/�1�B�7�<�5�����


�=�6�;�A�����B�6�3���D�/�:�C�3���=�4���B�6�3���1�C�@�@�3�<�B���:�7�;�7�B�7�<�5���@�3�A�7�A�B�=�@�������/�<�2���2�7�D�7�2�7�<�5���B�6�3���@�3�A�C�:�B���0�G�������B�=���/�1�1�=�C�<�B���4�=�@���B�6�3���B�E�=���>�6�/�A�3���@�3�A�7�A�B�/�<�1�3�A���7�<���A�3�@�7�3�A�����E�3

�1�/�:�1�C�:�/�B�3�2���B�6�3���;�=�B�=�@���>�6�/�A�3���@�3�A�7�A�B�/�<�1�3���B�=���0�3���
�������=�6�;�A��

���6�/�@�/�1�B�3�@�7�H�7�<�5���B�6�3���7�<�2�C�1�B�/�<�1�3���@�3�?�C�7�@�3�2���/���;�=�@�3���A�=�>�6�7�A�B�7�1�/�B�3�2���/�>�>�@�=�/�1�6�������B���L�@�A�B���5�:�/�<�1�3�����7�B���:�=�=�9�A���/�A���7�4���E�3���1�=�C�:�2���6�/�D�3���C�A�3�2���1�C�@�D�3���L�B�B�7�<�5�����/�A

�E�3���2�7�2���E�6�3�<���1�6�/�@�/�1�B�3�@�7�H�7�<�5���B�6�3���@�=�B�=�@���7�<�3�@�B�7�/�������=�E�3�D�3�@�����2�C�3���B�=���B�6�3���7�<�B�3�@�<�/�:���@�3�A�7�A�B�/�<�1�3���=�4���B�6�3���������A�C�>�>�:�G�����B�6�3���;�3�/�A�C�@�3�2���������D�=�:�B�/�5�3���2�3�1�/�G�A

�4�@�=�;���/�<���7�<�7�B�7�/�:���D�/�:�C�3���=�4���������D�=�:�B�A���/�B���B�6�3���A�B�/�@�B���=�4���B�6�3���B�3�A�B�����E�6�3�<���B�6�3���1�C�@�@�3�<�B���7�<�B�=���B�6�3���1�7�@�1�C�7�B���7�A���
�����B�=���/���A�B�3�/�2�G���A�B�/�B�3���D�/�:�C�3���=�4�����
���������D�=�:�B�A���/�4�B�3�@���B�6�3

�1�C�@�@�3�<�B���7�A���M�=�E�7�<�5���7�<���B�6�3���1�7�@�1�C�7�B�������3�1�/�C�A�3���B�6�3���7�<�>�C�B���D�=�:�B�/�5�3���7�A���<�=�B���/���>�C�@�3���A�B�3�>���A�7�5�<�/�:�����B�6�3���@�3�A�C�:�B�A���4�@�=�;���1�C�@�D�3���L�B�B�7�<�5���B�6�3���A�=�:�C�B�7�=�<���B�=���B�6�3���A�3�@�7�3�A

�%� ���1�7�@�1�C�7�B���3�?�C�/�B�7�=�<���E�=�C�:�2���<�=�B���0�3���/�1�1�C�@�/�B�3��

�'�=���=�D�3�@�1�=�;�3���B�6�7�A���2�7�4�L�1�C�:�B�G���E�3���=�>�B�3�2���4�=�@���/���;�=�@�3���@�=�0�C�A�B���/�>�>�@�=�/�1�6���C�A�7�<�5���>�/�@�/�;�3�B�3�@���3�A�B�7�;�/�B�7�=�<���/�<�2���&�7�;�C�:�7�<�9�����3�A�7�5�<���#�>�B�7�;�7�H�/�B�7�=�<�J�����'�6�3

�/�2�D�/�<�B�/�5�3���=�4���B�6�7�A���/�>�>�@�=�/�1�6���7�A���B�6�/�B���7�B���@�3�?�C�7�@�3�A���<�3�7�B�6�3�@���/���>�C�@�3���A�B�3�>���7�<�>�C�B���<�=�@���1�C�@�D�3���L�B�B�7�<�5��

�*�3���;�=�2�3�:�3�2���B�6�3���;�=�B�=�@���A���3�?�C�7�D�/�:�3�<�B���A�3�@�7�3�A���%� ���1�7�@�1�C�7�B���E�7�B�6���&�7�;�C�:�7�<�9���/�<�2���&�7�;�A�1�/�>�3�J�������7�5�C�@�3�����������&�7�;�C�:�7�<�9�����3�A�7�5�<���#�>�B�7�;�7�H�/�B�7�=�<���/�>�>�:�7�3�2���B�6�3

�;�3�/�A�C�@�3�2���D�=�:�B�/�5�3���/�A���/�<���7�<�>�C�B���B�=���B�6�3���;�=�2�3�:�����/�<�2���E�7�B�6���B�6�3���D�/�:�C�3���=�4���B�6�3���:�7�;�7�B�7�<�5���@�3�A�7�A�B�=�@�����%�:�7�;�7�B�����/�<�2���B�6�3���;�=�B�=�@���>�6�/�A�3���@�3�A�7�A�B�/�<�1�3�����%�.�6�/�B��

�




�/�:�@�3�/�2�G���9�<�=�E�<�����3�A�B�7�;�/�B�3�2���B�6�3���D�/�:�C�3���=�4���B�6�3���7�<�2�C�1�B�/�<�1�3����� �.�6�/�B�����B�=���;�/�9�3���B�6�3���1�C�@�@�3�<�B���>�@�3�2�7�1�B�3�2���0�G���B�6�3���;�=�2�3�:���;�/�B�1�6���B�6�3���;�3�/�A�C�@�3�2���1�C�@�@�3�<�B

�2�/�B�/���/�A���1�:�=�A�3�:�G���/�A���>�=�A�A�7�0�:�3��

Figure 7. Simscape model of the motorÕs equivalent circuit.
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Figure 8. Comparison of measured results (blue) with simulation results (red) for voltage (top) and current (bottom).
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Figure 9. Comparison of simulation results (blue) with hardware results (red) for rotor velocity (left) and phase current (right).
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�� MATLAB

�� Simulink

�� Curve Fitting Toolbox

�� Instrument Control Toolbox

�� SimPowerSystems

�� Simscape

�� Simulink Coder

�� Simulink Design Optimization

�� xPC Target
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�� Webinar: A Simulink Real-Time Testing Solution for Power

Electronics and Motor Control(45:08)

�� Webinar: Embedded Code Generation for AC Motors

(50:56)

�� Video: Parameterizing and Verifying a Permanent Magnet

Synchronous Motor Model(37:16)
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